1) 3z — 12=24
3) 2210 — 100
5) 221 70
7) 3z — 12=—12
9) 2(z — 8) =12
11) 4(z — 12) =40
13) 3z — 15 = —6
15) 22=20 — 60

17) 22-2 = 40

19) 3.’1:112 — 49

21)%:12

Two Step Equations

@ Solve each equation.

2) 3(x — 12) =15

4) 4(x — 12) =60

6) 4z — 12 =24

8) 4a:—8_76
10) 22-8 =34
12) 22=20 — 80
14) 3z — 15 =3
16) 3z — 6 = 12

18) 3z — 9=-15

20) 2:05—6 =14

22) 3z — 6 =27



Answers of Two Step Equations

@ Solve each equation.

1) 32 —12=24 = =12
3) 52-10 _ 100 = 2z = 62

3
5) 22 =70 = £ =53
7) 3z — 12=-12 = =0
9 2(x — 8) =12 = z =14
11) 4(z — 12) =40 = z =22
13)3z — 15=—6 = =3
15)@:60 = z =176

17) 22-2 — 40 = z =21

19) 32212 =42 = 7 =60

21) 3228 =12 = z =14

2) 3(x — 12) =15 = = =17

4) 4(x — 12) =60 = = =27

6) dr — 12=24 = =9

8) £-8 =76 = =40
10) 22-8 =34 = 7 ="72
12) 22220 =80 = z =100
14)3z — 15=3 = 2 =6
16)3z — 6=12 = =6

18)3x — 9=-15 = =z =-2

200228 =14 = ¢ =38

22)3z — 6=27 = z=11



